
MATHS

BOOKS - NAGEEN MATHS (HINGLISH)

INVERES TRIGONOMETRIC FUNCTIONS

Solved Examples

1. Find the principal value of the following 

(i)  


(ii)  


(iii) 

Watch Video Solution

sin− 1.
1

2

tan− 1.
1

√3

cot − 1( − √3)

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_cI6WCoCjqIfB


2.  


 


= R.H.S

Watch Video Solution

tan− 1.
x(x + 1) + 1

(x + 1) − x

= tan− 1(x2 + x+ 1)

3. If , find the value of .

Watch Video Solution

sin− 1
x =

π

4
cos − 1 x

4. Evaluate .

Watch Video Solution

cot(tan− 1 3)

5. If , find the value of 

Watch Video Solution

tan− 1 x = θ sin− 1.
2x

1 + x2

https://dl.doubtnut.com/l/_26Fzd1nzHFAA
https://dl.doubtnut.com/l/_VRxKbJFBIHc2
https://dl.doubtnut.com/l/_SwyD37hXLTXB
https://dl.doubtnut.com/l/_R3CRiBvLOqHp
https://dl.doubtnut.com/l/_o8Zpjxj4DtBb


6. Evaluate .

Watch Video Solution

tan− 1. + tan− 1.
1
2

1

3

7. Prove that .

Watch Video Solution

tan− 1 x + cot − 1(x + 1) = tan− 1(x2 + x + 1)

8. Prove that: .

Watch Video Solution

tan− 1( ) + tan− 1( ) = cos − 1( )
1

4

2

9

1
2

3

5

9. Prove that .

Watch Video Solution

tan(2 tan− 1 x) = 2 tan(tan− 1 x + tan− 1 x3)

10. Prove that sec2(tan− 1 3) + cos ec2(cot − 1 2) = 15

https://dl.doubtnut.com/l/_o8Zpjxj4DtBb
https://dl.doubtnut.com/l/_gzoKNYE2qM08
https://dl.doubtnut.com/l/_QSgm75jiTaWl
https://dl.doubtnut.com/l/_7ywBU5oMiJHL
https://dl.doubtnut.com/l/_kfD9GpDRvf8A


Watch Video Solution

11. If  prove that 

Watch Video Solution

tan− 1 x + tan− 1 y + tan− 1 z = π x + y + z = xyz

12. Prove that 

Watch Video Solution

cos − 1 x = 2 sin− 1.
√1 − x

2

13. Prove that .

Watch Video Solution

sin− 1. = tan− 1.
3

5

3

4

14. If  then prove that 

.

Watch Video Solution

cos − 1. + cos − 1. = θ
x

a

y

b

− . cos θ + = sin2 θ
x2

a2

2xy

ab

y2

b2

https://dl.doubtnut.com/l/_kfD9GpDRvf8A
https://dl.doubtnut.com/l/_l67DgnR6ONjz
https://dl.doubtnut.com/l/_H67rTXarBIfe
https://dl.doubtnut.com/l/_Vy6Bzq8wpPI5
https://dl.doubtnut.com/l/_fDEFz4teNsMs


Exericse 2 A

15. If , then prove that 


Watch Video Solution

sin− 1 x + tan− 1 x =
π

2

2x2 + 1 = √5

16. Solve the following equation: 

Watch Video Solution

sin− 1 x + sin− 1(1 − x) = cos − 1 x

17. solve

Watch Video Solution

: sin− 1 x + sin− 1 2x =
π

3

https://dl.doubtnut.com/l/_fDEFz4teNsMs
https://dl.doubtnut.com/l/_FafbFmKMNltq
https://dl.doubtnut.com/l/_jyg2QPr7FQuP
https://dl.doubtnut.com/l/_pjTA5HunABLO


1. Find the principal values of the following : 

(i)  


(ii) 


(iii)  

(iv)  


(v)  


(vi) .

Watch Video Solution

sin− 1(√3)

cot − 1( − √3)

cos − 1( − 1 )
1

2

sec− 1( − )
2

√3

tan− 1( − 1)

cos ec− 1( − 1)

2. Find the principal values of the following : 

(i)  (ii)  (iii)  (iv) 

(v)  (vi) 

Watch Video Solution

sin− 1( )
−√3

2
cot − 1 √−3 cos − 1( − )

1

2
cos ec− 1(√2)

tan− 1 cos ec− 1( − 1)

https://dl.doubtnut.com/l/_7gHfymGDEYsJ
https://dl.doubtnut.com/l/_qCf7mRixa6Wd


3. Find the principal values of the following : 

(i)  (ii)  (iii) 

Watch Video Solution

sin− 1(sin. )
5π

3
cos − 1 cos( )

4π
3

cos[ + cos − 1( − )]
π

3

1

2

4. If , the find the value of .

Watch Video Solution

cos − 1 x =
π

3
sin− 1 x

5. If , the find the value of sex x.

Watch Video Solution

tan− 1. = x
3

4

6. (i) Evaluate :  


(ii) slove the equations  and

Watch Video Solution

sec(cos − 1. )
1

2

sin− 1 x + sin− 1 y =
2π

3

cos − 1 x − cos − 1 y =
π

3

https://dl.doubtnut.com/l/_OH3Nntc0OIfe
https://dl.doubtnut.com/l/_drlaMqFgK9f2
https://dl.doubtnut.com/l/_wgCfuVPntiAe
https://dl.doubtnut.com/l/_ZY3nEAMIRbCH


7. If , then evaluate 

Watch Video Solution

sin− 1 x =
1

3
sin− 1(2x√1 − x2)

8. prove that: 

Watch Video Solution

2 tan− 1 x = tan− 1. =
1

3

1

7

π

4

9. Prove that : 

Watch Video Solution

tan− 1 1 + tan− 1 2 + tan− 1 3 = π

10. Prove that:

Watch Video Solution

tan− 1( ) + tan− 1( ) = [ ≻ 1 < − 1
m

n

n − m

n + m

π

4
m

n

−3π

4
m

n

https://dl.doubtnut.com/l/_ZY3nEAMIRbCH
https://dl.doubtnut.com/l/_19JWoh6ssltd
https://dl.doubtnut.com/l/_LNStFW8ctkKJ
https://dl.doubtnut.com/l/_E6p5kI1L6frg
https://dl.doubtnut.com/l/_XZBK8JbhnPLK
https://dl.doubtnut.com/l/_7cBakzyty2GB


11. Prove that : 

Watch Video Solution

tan− 1. − tan− 1(2x + 1) =
x

x + 1

3π

4

12. Prove that : 

Watch Video Solution

+ + =
tan− 1 1

2
tan− 1 1

5
tan− 1 1

8

π

4

13. Prove that : 

Watch Video Solution

cot − 1 3 + cot − 1. = cot − 1.
3

4

1

3

14. Prove that :

Watch Video Solution

cot − 1( ) + cot − 1( ) + cot − 1( ) = π, (a > b > c >
1 + ab

a − b

1 + bc

b − c

1 + ca

c − a

https://dl.doubtnut.com/l/_7cBakzyty2GB
https://dl.doubtnut.com/l/_3LCZMWrwT1lt
https://dl.doubtnut.com/l/_04J2YxXGxDcM
https://dl.doubtnut.com/l/_lO2bzbyNgJ65


15. If

Watch Video Solution

cos − 1 x + cos − 1 y + cos − 1 = π, provethatx2 + y2 + z2 + 2xyz = 1.

16. 

Watch Video Solution

4 tan− 1( ) = tan− 1( ) + tan− 1( ) +
1

5

1

70

1

99

π

4

17. Prove that : 

Watch Video Solution

cos − 1( ) + cos − 1( ) = 2 tan− 1.
1 − a2

1 + a

1 − b2

1 + b2

a + b

1 − ab

18. 

Watch Video Solution

tan[ sin− 1( ) + cos − 1( )] =
1
2

2a

1 + a2

1
2

1 − a2

1 + a2

https://dl.doubtnut.com/l/_giF9DghROvb4
https://dl.doubtnut.com/l/_lSzsOH7N8Utt
https://dl.doubtnut.com/l/_Ks4Yg0dOF2Om
https://dl.doubtnut.com/l/_dZxcql33vdGV


19. Prove that : 

Watch Video Solution

cos − 1. + cos − 1. = sin− 1( )
3

5

12

13

12

5

20. Prove that: 

Watch Video Solution

sin− 1( ) − cos − 1( ) = sin− 1( )
3

5

12

13

16

65

21. If , prove that 

Watch Video Solution

cos − 1( ) + cos − 1( ) = θ
x

2

y

3

9x2 − 12xy cos θ + 4y2 = 36 sin2 θ

22. If 
 then the value of 


 will be
 
 (b) 
 (c) 

(d) 

Watch Video Solution

sin− 1 a + sin− 1 b + sin− 1 c = π,

a√(1 − a2) + b√(1 − b2) + √(1 − c2) 2abc abc abc
1

2

abc
1

3

https://dl.doubtnut.com/l/_0Xvvq4D18JIt
https://dl.doubtnut.com/l/_UhsNI5ENzcgs
https://dl.doubtnut.com/l/_2EOWGuyMYenP
https://dl.doubtnut.com/l/_WOAPyIJSNiqv


23. Solve : 

Watch Video Solution

tan− 1(x − 1) + tan− 1 x + tan− 1(x + 1) = tan− 1 3x

24. (i) Solve :  


(ii) slove : 

View Text Solution

4 sin− 1. + sin− 1. =
5

x

12

x

π

2

sin− 1. + sin− 1. =
5

x

12

x

π

2

25. (i) Slove :  


(ii) Slove : 

View Text Solution

tan− 1(x + 1) + tan− 1(x − 1) = tan− 1.
8

31

tan− 1. = tan− 1. + tan− 1.
1

a − 1

1

x

1

a2 − x + 1

26. The value of , is equal

to:

tan− 1[ ], |x| < , x ≠ 0
√1 + x2 + √1 − x2

√1 + x2 − √1 − x2

1

2

https://dl.doubtnut.com/l/_WOAPyIJSNiqv
https://dl.doubtnut.com/l/_W8KeRJeSuZaU
https://dl.doubtnut.com/l/_Enl47lswMwRx
https://dl.doubtnut.com/l/_uRk2JIiLGyq0
https://dl.doubtnut.com/l/_abx3m44SmqXZ


Watch Video Solution

27. Solve 

Watch Video Solution

tan− 1( ) + tan− 1( ) = tan− 1( )
1

1 + 2x

1

1 + 4x

2

x2

28. If  , then show that, 

Watch Video Solution

sin(π cos θ) = cos(π sin θ) θ = ± sin− 1( )
1
2

3

4

29. If  then prove that 

Watch Video Solution

tan− 1. + tan− 1( ) =
a + x

a

a − x

a

π

6

x2 = 2√3a2

30. Prove that : 

W h Vid S l i

tan− 1 a − tan− 1 b = cos − 1[ ]
1 + ab

√(1 + a2)(1 + b2)

https://dl.doubtnut.com/l/_abx3m44SmqXZ
https://dl.doubtnut.com/l/_fLg0rh9SWqUk
https://dl.doubtnut.com/l/_DFC3I6DT4E18
https://dl.doubtnut.com/l/_J4olrUnp7QKY
https://dl.doubtnut.com/l/_PxGc3oEQbfMO


Exericse 2 B

Watch Video Solution

1. The Principal value of  is :

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

cos − 1( )
√3

2

π

8

π

6

π

3

2. 

A. 

sin− 1(sin = ) = ?
2π

3

π

3

https://dl.doubtnut.com/l/_PxGc3oEQbfMO
https://dl.doubtnut.com/l/_xoGGdtwq3LXo
https://dl.doubtnut.com/l/_hEB4kQiVc1ru


B. 

C. 

D. None of these

Answer: A

Watch Video Solution

π

4

2π

3

3. If , then x = ?

A. 1

B. -1

C. 

D. 

Answer: D

Watch Video Solution

tan− 1 2x + tan− 1 3 × =
π

4

−
1

6

1

6

https://dl.doubtnut.com/l/_hEB4kQiVc1ru
https://dl.doubtnut.com/l/_CyMAmgClFgSg
https://dl.doubtnut.com/l/_ESlC74pGdk6n


4. If 

A. 

B. 

C. 

D. None of these

Answer: A

View Text Solution

sin− 1. + cos ec2(cot − 1 3) = ?
2a

1 + a2

a + b

1 − ab

a + b

1 + ab

a − b

1 + ab

5. 

A. 30

B. 29

C. 27

D. 25

sec2(tan− 1 4) + cos ec2(cot − 1 3) = ?

https://dl.doubtnut.com/l/_ESlC74pGdk6n
https://dl.doubtnut.com/l/_mKnCV8JUn1zO


Answer: C

Watch Video Solution

6. If , then 

Watch Video Solution

sin− 1 x + sin− 1 y =
π

6
cos − 1 x + cos − 1 y = ?

7. 

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

sin(2 tan− 1. ) = ?
4
5

40
41

9

41

16

25

https://dl.doubtnut.com/l/_mKnCV8JUn1zO
https://dl.doubtnut.com/l/_Wat2ugvNRJek
https://dl.doubtnut.com/l/_yLfnxUlG1eBV


8. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin[sin− 1( − ) + ] = ?
1

2

π

3

−
√3

2

−
1

2

1

2

√3

2

9. If  then 

A. 

B. 

C. 

D. None of these

sin− 1(x) + sin− 1(2x) =
π

3
x =

−
1

2

1

2

±√
3

28

https://dl.doubtnut.com/l/_salA2X7ejBq8
https://dl.doubtnut.com/l/_CjPOxpElVnA5


Exericse 2 C

Answer: C

Watch Video Solution

10. If , then x = ?

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

tan− 1( ) = tan− 1 x, x > 0
1 − x

1 + x

1

2

1

√3

−
1

√3

−√3

1. Prove: 4 tan− 1( ) − tan− 1( ) =
1

5

1

239

π

4

https://dl.doubtnut.com/l/_CjPOxpElVnA5
https://dl.doubtnut.com/l/_TUwxY1mpVhT0
https://dl.doubtnut.com/l/_nCmxnqJ5ncch


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

π

6

π

4

π

3

π

2

2. Solution of  is:

A. 0

B. 1

C. 

D. 2

Answer: A

Watch Video Solution

tan− 1(1 + x) + tan− 1(1 − x) =
π

2

−1

https://dl.doubtnut.com/l/_nCmxnqJ5ncch
https://dl.doubtnut.com/l/_DfRCKluXixVo


3. If , then

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

x2 + y2 + z2 = r2

tan− 1( ) + tan− 1( ) + tan− 1( ) = ?
xy

zr

yz

xr

zx

yr

π

4

π

6

π

2

π

4. The value of  is

A. 0.28

B. 0.48

C. 0.6

cos(2 cos − 1 0.8)

https://dl.doubtnut.com/l/_DfRCKluXixVo
https://dl.doubtnut.com/l/_AGIQFFC8pG7a
https://dl.doubtnut.com/l/_SRR7rHwdNZaX


D. None of these

Answer: A

Watch Video Solution

5. 
then find 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Ifsin{cot − 1(x + 1)} = cos(tan− 1 x), x.

√
x2 + 2

x2 + 1

x

√x2 + 1

x

√x2 + 2

√
x2 + 1

x2 + 2

6. If 
then find (tan− 1 x)
2

+ (cot − 1 x)
2

= ,
5π2

8
x.

https://dl.doubtnut.com/l/_SRR7rHwdNZaX
https://dl.doubtnut.com/l/_bTNGmBQQZbFQ
https://dl.doubtnut.com/l/_XbQbCZFS4Jtp


A. 1

B. -1

C. 

D. 

Answer: B

Watch Video Solution

1

√3

−
1

√3

7. If 
 is an A.P. with common difference 
 then prove that


A. 

B. 

C. 

D. None of these

Answer: A

a1, a2, a3, , an d,

tan[tan− 1( ) + tan− 1( ) + tan− 1( )] =
d

1 + a1a2

d

1 + a2a3

d

11 + an− 1an

(n − 1)d

1 + a1an

nd

1 + a1a2

(n + 1)d

1 + a1an

https://dl.doubtnut.com/l/_XbQbCZFS4Jtp
https://dl.doubtnut.com/l/_r3BrBcJIblKL


Watch Video Solution

8. If  then x = ?

A. 

B. 

C. 0

D. None of these

Answer: C

Watch Video Solution

sin− 1(1 − x) − 2 sin− 1 x =
π

2

0, , 1
1

2

0,
1

2

9. If  are the roots of the equation 

, then 

 is equal to

A. 

x1, x2, x3, x4

x4 − x3 sin 2β + x2. cos 2β − x cos β − sinβ = 0

tan− 1 x1 + tan− 1 x2 + tan− 1 x3 + tan− 1 x4

α

https://dl.doubtnut.com/l/_r3BrBcJIblKL
https://dl.doubtnut.com/l/_0T8mqvMVK6uD
https://dl.doubtnut.com/l/_B7oQBcifeUBR


B. 

C. 

D. 

Answer: B

Watch Video Solution

90∘ − α

180∘ − α

270∘ − α

10. If , then 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

cos − 1  + cos − 1  = θ
x

a

y

b
+ = ?

x2

a2

y2

b2

cos θ + cos2 θ
xy

ab

cos θ + cos2 θ
2xy

ab

cos θ + sin2
θ

2xy

ab

cos θ + sin2
θ

xy

ab

https://dl.doubtnut.com/l/_B7oQBcifeUBR
https://dl.doubtnut.com/l/_snyo9AVD9Usu


Exericse 2 1

1. 

Watch Video Solution

sin− 1( − )
1

2

2. 

Watch Video Solution

cos − 1[ ]
√3

2

3. 

Watch Video Solution

cosec− 1(2)

4. Find the principal
value of 

Watch Video Solution

tan− 1( − √3)

https://dl.doubtnut.com/l/_YLrv655QWzZ2
https://dl.doubtnut.com/l/_tFliZ2uHEMjj
https://dl.doubtnut.com/l/_QPuVLIwRAX70
https://dl.doubtnut.com/l/_ZlJKPMmpx9Ka
https://dl.doubtnut.com/l/_xOXu3I85ayQt


5. Find the principal
values of 
and 

Watch Video Solution

cos − 1(√3)

2
cos − 1( − )

1
2

6. 

Watch Video Solution

tan− 1( − 1) = − tan− 1(1)

7. 

Watch Video Solution

θ = sec− 1( )
2

√3

8. Find the principal values
 of each of the following:
 
 (ii) 

Watch Video Solution

cot − 1( − √3)

cot − 1(√3)

https://dl.doubtnut.com/l/_xOXu3I85ayQt
https://dl.doubtnut.com/l/_vlf0dBMWwYcB
https://dl.doubtnut.com/l/_Qa3CLO4I2nqB
https://dl.doubtnut.com/l/_z0YUh5zQGdtx
https://dl.doubtnut.com/l/_U0a1eac9OpzG


9. 

Watch Video Solution

cos − 1( − √2)

10. 

Watch Video Solution

cos ec− 1( − √2)

11. Find the value of: 

Watch Video Solution

tan− 1(1) + cos − 1( − ) + sin− 1( − )
1

2

1

2

12. Write the value of 

Watch Video Solution

cos − 1( ) + 2 sin− 1( )
1

2

1

2

13. If ,then :sin− 1 x = y

https://dl.doubtnut.com/l/_U0a1eac9OpzG
https://dl.doubtnut.com/l/_z81KQZg2nCYE
https://dl.doubtnut.com/l/_M9FujSyIU1aT
https://dl.doubtnut.com/l/_diExPZiVMZcg
https://dl.doubtnut.com/l/_hoRv45QIip3Y


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

o ≤ y ≤ π

− ≤ y ≤
π

2

π

2

o < y < π

− < y <
π

2

π

2

14.  is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

tan− 1 √3 − sec− 1( − 2)

π

−
π

3

π

3

2π

3

https://dl.doubtnut.com/l/_hoRv45QIip3Y
https://dl.doubtnut.com/l/_B7iud5yBsQcs


Exericse 2 2

1. Prove that: 

Watch Video Solution

3 sin− 1 x = sin− 1(3x − 4x3), x ∈ [ − , ]
1

2

1

2

2. Prove that: 

Watch Video Solution

3 cos − 1 x = cos − 1(4x3 − 3x), x ∈ [ , 1]
1

2

3. Prove that: 

Watch Video Solution

+ =
tan− 1 2

11
tan− 1 7

24
tan− 1 1

2

4. Prove that: 

Watch Video Solution

2 + =
tan− 1 1

2
tan− 1 1

7

tan− 1(31)

17

https://dl.doubtnut.com/l/_B7iud5yBsQcs
https://dl.doubtnut.com/l/_qhoMLvaJQ3Kb
https://dl.doubtnut.com/l/_SKb9fSxomfbo
https://dl.doubtnut.com/l/_Iz4w1PF2ldcE
https://dl.doubtnut.com/l/_aHF6V3bDJHBo


Watch Video Solution

5. Write the following function in the simplest form:

Watch Video Solution

, x ≠ 0
tan− 1(√1 + x2 − 1)

x

6. 

Watch Video Solution

tan− 1( ), |x| > 1
1

√x2 − 1

7. Express each of the
 following in the simplest form:
 `tan^(-1){sqrt((1-

cosx)/(1+cosx))},\ -pi

Watch Video Solution

8. tan− 1( ) = − x
cos x − sinx

cos x + sinx

π

4

https://dl.doubtnut.com/l/_aHF6V3bDJHBo
https://dl.doubtnut.com/l/_CKkiJZ1ju0aX
https://dl.doubtnut.com/l/_gNGPUKOmpsu6
https://dl.doubtnut.com/l/_NM3KX5B7CvaP
https://dl.doubtnut.com/l/_JBws2zLoJjz8


Watch Video Solution

9. 

Watch Video Solution

tan− 1 , |x| < a
x

√a2 − x2

10. Write the following function in the simplest form:

Watch Video Solution

tan− 1( ), a > 0; ≤ x ≤
3a2x − x3

a3 − 3ax2

−a

√3

a

√3

11. For the principal values, evaluate each of the following:




Watch Video Solution

tan− 1{2 cos(2s ∈− 1 )}
1

2
cot[sin− 1{cos(tan− 1 1)}]

12. Find the value of: cot(tan− 1 a + cot − 1 a)

https://dl.doubtnut.com/l/_JBws2zLoJjz8
https://dl.doubtnut.com/l/_BtX5hRFbs9jv
https://dl.doubtnut.com/l/_vdV7tDl2M03c
https://dl.doubtnut.com/l/_k3B1ZXJI5cXx
https://dl.doubtnut.com/l/_ayniRd1dO27o


Watch Video Solution

13. Find the value of:


and 

Watch Video Solution

[ + ], |x| < 1, y > 0
tan 1

2

sin− 1(2x)

1 + x2

cos − 1(1 − y2)

1 + y2
xy  <  1

14. If 
then find the value of 

Watch Video Solution

sin( + cos − 1 x) = 1,
sin− 1 1

5
x.

15.  find

Watch Video Solution

+ = .
tan− 1(x − 1)

x − 2

tan− 1(x + 1)

x + 2

π

4

16. Find: 

h id l i

sin− 1(sin  )
2π

3

https://dl.doubtnut.com/l/_ayniRd1dO27o
https://dl.doubtnut.com/l/_SgAR06ecLiBY
https://dl.doubtnut.com/l/_JrOgreWD8qGu
https://dl.doubtnut.com/l/_Zksa891nFfpI
https://dl.doubtnut.com/l/_Ln3qokxgEHZ2


Watch Video Solution

17. 

Watch Video Solution

tan− 1(tan  )
3π

4

18. Find the value of 

Watch Video Solution

tan( + )
sin− 1 3

5
cot − 1 3

2

19.  is equal to

A. 

B. 

C. 

D. 

cos − 1(cos( ))
7π
6

7π
6

5π

6

π

3

π

6

https://dl.doubtnut.com/l/_Ln3qokxgEHZ2
https://dl.doubtnut.com/l/_wkbWDenrT5vd
https://dl.doubtnut.com/l/_VOkHxAZsF4qp
https://dl.doubtnut.com/l/_ep9ISx21bSYl


Answer: B

Watch Video Solution

20. is equal to

A. 

B. 

C. 

D. 1

Answer: D

Watch Video Solution

sin( − sin− 1( − ))
π

3

1

2

1

2

1

3

1

4

21. is equal to(A)  (B)  (C) 0 (D) 

A. 

tan− 1 √3 − cot − 1( − √3) π −
π

2
2√3

π

https://dl.doubtnut.com/l/_ep9ISx21bSYl
https://dl.doubtnut.com/l/_MBPP7dsijC7K
https://dl.doubtnut.com/l/_fMF40M4QLtMJ


Miscellaneous Exercise

B. 

C. 

D. 

Answer: B

Watch Video Solution

−
π

2

0

2√3

1. Find the value of the following: 

Watch Video Solution

cos − 1(cos )
13π

6

2. Find the value of the following: 

Watch Video Solution

tan− 1(tan )
7π
6

https://dl.doubtnut.com/l/_fMF40M4QLtMJ
https://dl.doubtnut.com/l/_RrvxPLLc3gzI
https://dl.doubtnut.com/l/_NcYItO2dQqP9
https://dl.doubtnut.com/l/_JGvdsKwJDcWE


3. Prove that:

Watch Video Solution

2 sin− 1 = tan− 13

5

24

7

4. Prove that:

Watch Video Solution

+ =
sin− 1 8

17

sin− 1 3

5

tan− 1(77)

36

5. Prove that 

Watch Video Solution

=
cos − 1 4

5

cos − 1(12)

13

cos − 1(33)

65

6. Prove the following:


Watch Video Solution

cos − 1( ) + sin− 1( ) = sin− 1( )
12

13

3

5

56

65

7. Prove that: sin− 1( ) = sin− 1( ) + cos − 1( )
63

65

5

13

3

5

https://dl.doubtnut.com/l/_JGvdsKwJDcWE
https://dl.doubtnut.com/l/_LSGjqxwvBckl
https://dl.doubtnut.com/l/_2kh2yJrcxJG4
https://dl.doubtnut.com/l/_hdNHaeSIdnDi
https://dl.doubtnut.com/l/_HRsEqS5C2ts7


Miscellaneous Exercise Prove That

Watch Video Solution

8. Prove that:


Watch Video Solution

+ + + =
tan− 1 1

5
tan− 1 1

7
tan− 1 1

3
tan− 1 1

8

π

4

1. Prove that:

Watch Video Solution

tan− 1 √x = cos − 1( ), x ∈ [0, 1]
1

2

1 − x

1 + x

2. 

Watch Video Solution

cot − 1( ) = , x ∈ (0, )
√1 + sinx + √1 − sinx

√1 + sinx − √1 − sinx

x

2

π

4

https://dl.doubtnut.com/l/_HRsEqS5C2ts7
https://dl.doubtnut.com/l/_hg54XQ0xzYFG
https://dl.doubtnut.com/l/_6ZYdlYGlEjNh
https://dl.doubtnut.com/l/_PSPVYhBZJgE1


3. Prove that

Watch Video Solution

tan− 1( ) = − cos − 1, − ≤ x ≤ 1
√1 + x − √1 − sinx

√1 + x − √1 − sinx

π

4

1

2

1

√2

4. 

Watch Video Solution

− sin− 1 = sin− 1 
9π

8

9

4

1

3

9

4

2√2

3

5. Solve the equations.

Watch Video Solution

2 tan− 1(cos x) = tan− 1(2 cos ecx)

6. Solve the equations.

Watch Video Solution

= tan− 1 x, (x > 0)
tan− 1(1 − x)

1 + x

1

2

https://dl.doubtnut.com/l/_CoUTQNvUZUgS
https://dl.doubtnut.com/l/_nRp9fx7AOH0v
https://dl.doubtnut.com/l/_qxVFpI5WV57z
https://dl.doubtnut.com/l/_SMk2277Fkdrr
https://dl.doubtnut.com/l/_PTFFzFrWsYKd


7.  is equal to :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

sin(tan− 1 x), |x| ≤ 1

x

√1 − x2

1

√1 − x2

1

√1 + x2

x

√1 + x2

8. If , then  is equal to

A. 

B. 

C. 

D. 

sin− 1(1 − x) − 2 sin− 1 x =
π

2
x

0,
1

2

1,
1

2

0

1

2

https://dl.doubtnut.com/l/_PTFFzFrWsYKd
https://dl.doubtnut.com/l/_rf5Z3p9QbwL0


Answer: C

Watch Video Solution

9. is equal to(A)  (B)  (C)  (D) 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

tan− 1( ) −
x

y

tan− 1(x − y)

x + y

π

2

π

3

π

4

−3π

4

π

2

π

3

π

4

−3π

4

https://dl.doubtnut.com/l/_rf5Z3p9QbwL0
https://dl.doubtnut.com/l/_O9A5sae6lG9O

